LS-HurssluFe Serfe 2472

Mro4)a)  AC41-213) B(oi8)7)
BI'/a/geraolt 9?/"” durch die Panbte A wnd B’

(8o (8) Gta) (3)owtomy
I

——-%I 0 -
08=<0)+30= (0
0 0

o 6 Y 4 0“9
) (A %@ g:X:(—1)+i(8-('2))
Rl A O
b A= I £ -4
=4 ‘g giX= (—z)+é ( 10 )
r 3 4

g/l E'—"{S} / E.' 4)(44‘2)(14-3)(3:3

1-(4-4¢)+2(-2+40¢)+3(3+4¢)=9
4 -4t — 4 +20¢ +9+12¢ = 9
54280 =9 B £=0 > S-A(4]- 213)
| /"j/ /n £
- B/'/a//ounlﬁf ven B ba//‘mm,p, m 't /,’)'[f'fﬁh-odl h__LE/\ th
by el {
P xX=( g lsr 'L) . hnE={H]
7 347
1-(0+1r)42.(8+42+ )+3(7+3r)=9
FA1E+br +24t9 =9 = {4rt3779 > F=2

k; R

0 1 e £
0—5” (g)«l,(z):( ) B'(-4l0]- 5) 2 &o/fje/yeraole g'
2 : -—5 gt’hl‘ durch die Punkte

" S=A und B’

Pl 4=(-4)\ /4 e
g . X= (—32)+§(_2~0 = -7 |+ -2
3 ~(-5) 3 '

0. Fell



